GRADE10/ UNIT EIGHT [ ]

|. Vocabulary (20 Marks)
Choose from a, b, c and d to complete the following sentences:

(4x5=20)
1- The death of his mother came as a tremendous .................... to him.
a- spot b- shock
c- software d- tumor
2- The satellite will ..................... the information back to earth.
a- draw b- remind
c- transmit d- innovate
3- Dinner will be ready in half an hour - justbe ....................... !
a- patient b- bifocal
c- latest d- sophisticated
4- When the red light comes on, you should ..................... the battery so it
Is ready for the next time.
a- trespass b- instigate
c- remind d- recharge

ll. Grammar (10 Marks)
Do as shown between brackets: (2 X 5= 10)
5- Visitors must park in the staff car park. (Make negative)
a- Visitors mustn't park in the staff car park.
b- Visitors don't park in the staff car park.
c- Visitors didn't park in the staff car park.

6- | missed the school bus. | wish | (wake) up earlier. (Correct the verb)
a- | missed the school bus. | wish | have woken up earlier.
b- I missed the school bus. | wish | wake up earlier.
c- | missed the school bus. | wish | had woken up earlier.



1. Writing (30 Marks)

Plan and write a paragraph of 6 sentences about " The importance of
modern technoloqy".
Write your outline (5 Marks)

Introductory sentence:

Supporting details:

Concluding sentence:

Write your topic here (25 Marks)




